وزارة التربية والتعليم
مدرسة علي الركابي الاساسية للبنين
اسم الطالب:                                                                                   اسم المادة   : English test 

التاريخ : 22\ 4\2019                                                       الصف: السابع  (           )  
Question 1   read and answer:
Sherlock Holmes is more famous than Poirot ,  he’s the most famous detective of all , his method was observation , after observing the object , he  made logical conclusions .      
1 -   Sherlock Holmes is          a –     a   driver             b – a   doctor            c-     a   detective 

2 – how did Sherlock Holmes solve the crime ?  

    3  -    write comparative  and superlative form  from the text  ?                     
4-   what is the pronoun  (  he )  refers to ? 
 ( 4 marks )
Question 2    a-   what are the irregular form ( v 2)  past  of the following words ?

1 -   set    ……………        2 -   give ……………….      3-  think ……………..   4 0    know ……………..

5 -    sell ………………

b-  write the comparative and the superlative of the following words 

	superlative
	comparative
	word

	
	
	kind

	
	
	hot

	
	
	happy

	
	
	wide

	
	
	Good

	
	
	Bad

	
	
	logical


( 11 marks)
Question 3:    circle the correct meaning

1  .  Elementary      a -  easy not complicated    b – difficult  c – not important 

2  0 Intelligent         a -  smart , clever       b 0 angry       c-  happy 

3 0 Pleasant               a -  polite easy to love       b – angry man         c – ugly

4 -  Famous                a -  not interested            b -  known by people      c – detective

5 -  Merchant               a-  someone who buys  and sells        b – servant       c - buyer
                                                      Good luck                                                     ( 5 mark )
